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[English Version]

The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1×10
(a) Which of the following principle does inductive argument depend on?

(i) Principle of Change (ii) Principle of Uniformity
(iii) Principle of Utility (iv) Principle of Probability.

(b) The main characteristic of innate ideas is
(i) Universality (ii) Uniformity

(iii) Both Universality and Uniformity (iv) None of the three.
(c) “All our ideas are copies of some impression”— This is the contention of

(i) Locke (ii) Berkeley
(iii) Descartes (iv) Hume.

(d) “This is certainly a true portrait of her”— Here the word ‘true’ has been used in the following
sense :

(i) Genuine (ii) Faithful
(iii) Perfect (iv) Real/Actual.

(e) Which of the following theory is also known as iron-curtain theory?
(i) Plato’s theory of Idea (ii) Aristotle’s theory of Causality

(iii) Locke’s Realism (iv) Berkeley’s Idealism.
(f) “The equator is not a true physical place”— In which of the following sense the word ‘true’ has

been used here?
(i) Real/Actual (ii) Perfect

(iii) Genuine (iv) Faithful.
(g) “Truth is that what works”— This view is held by

(i) Correspondence theory (ii) Coherence theory
(iii) Pragmatic theory (iv) None of these.
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(h) “He is religious”— In this sentence which of the following state has been expressed?
(i) Occurrent state
(ii) Dispositional state

(iii) Both Occurrent and Dispositional state
(iv) None of the above.

(i) “I know how to swim”— Here the word ‘know’ is used in the sense of
(i) Knowing how/ability (ii) Acquaintance

(iii) Propositional knowledge (iv) None of the three options.
(j) ‘For a solid iron bar to float on water’— What kind of impossibility is expressed here?

(i) Logical (ii) Empirical
(iii) Technical (iv) None of these.

(k) “External objects can be directly known through sense experience”— This is the main tenets of
which theory?

(i) Naive realism (ii) Representative realism
(iii) Idealism (iv) Phenomenalism.

(l) “Universals have real existence, they are not mere ideas in our mind”— This view is held by
(i) Plato (ii) Aristotle

(iii) Both Plato and Aristotle (iv) Berkeley.

2. Answer any five of the following questions : 5×5
(a) What is the meaning of the word ‘coherence’ in the coherence theory of truth?
(b) What is the main contention of representative realism?
(c) Distinguish between a priori and a posteriori propositions.
(d) Explain the different senses of the word ‘know’.
(e) What is the main contention of the resemblance theory regarding universals?
(f) Explain, in brief, the distinction between strong and weak idealism.
(g) Describe, with examples, different kinds of possibility and impossibility.
(h) What are the different definitions of analytic propositions? Discuss in brief.

3. Answer any two of the following questions :
(a) Critically examine and evaluate phenomenalism. 15
(b) Is causal principle a priori or a posteriori? Discuss in detail. 15
(c) What are the necessary and sufficient conditions of propositional knowledge? What is the difference

between strong and weak sense of ‘know’? 10+5
(d) Explain and evaluate Plato’s theory of universals. What are the points of difference between Platonic

and Aristotelian theory of universals? 10+5


